Notice for appointment of Regular / Rural Retail Outlet Dealerships

Bharat Petroleum Corporation Ltd. proposes to appoint Retail Outlet dealers in Uttarakhand as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimo M.)/Area o	um Dimens of the site (*		arrange	e to be d by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-2 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO (Rs in lakhs)	Estimated fund required for developm ent of infrastruct ure at RO (Rs in lakhs)	Draw of Lots / Bidding (Rs in Lakhs)	(Rs in lakhs)	
1	SIIDCUL -Nagla bypass link road(Attariya road), Within Municipal Limits of Rudrapur, Not on SH or NH	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
2	MAHUAKHEDAGANJ, WITHIN MUNICIPAL LIMITS ,(NOT ON SH OR NH)	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
3	PITHORAGARH ,WITHIN MUNICIPAL LIMITS, NOT ON SH OR NH	PITHORAGAR H	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
4	On Proposed Rudrapur Ringroad,(RHS Between SIIDCUL & UP Border)	UDHAM SINGH NAGAR	REGULAR	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
5	Within 3 KM of Champawat Bus stand, on NH-09	CHAMPAWAT	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
6	Between Banbasa and Tanakpur ,on NH-09	CHAMPAWAT	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
7	Between KM Stone 224 to 229 on NH-74 (new NH-09) RHS Moving from Rudrapur to Kichha	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
8	On Khatima Bypass (RHS moving from Khatima to Tanakpur)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
9	SIIDCUL-Nagla bypass link road,Outside Municipal Limits of Rudrapur,Tehsil Rudrapur,Not on SH Or NH	UDHAM SINGH NAGAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
10	BALAWALA IN DEHRADUN	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
11	WITHIN 2 KM OF GARHI CANTT, DEHRADUN	DEHRADUN	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of lots	0	3
12	BHEL BARRIER NO. 6 TO SHIWALIK NAGAR CHOWK IN HARIDWAR (NOT ON NH/SH)	HARIDWAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
13	On Bhurarani Chhatarpur road, Within Municipal Limits of Rudrapur, Not on NH or SH	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3

	T			1										
14	Vill.Chadiyal Suyal,WML, B/W Ujala Cygnus Hospital & Chadiyal Chauraha on Gasgodam Rd, Not on SH/NH	NAINITAL	REGULAR	100	sc	CFS	20	20	400	0	0	Draw of lots	0	3
15	In between Pokhri Band and Gopeshwar on Badrinath Kedarnath road on NH107A	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
16	Village Chamnau on Chopta Ukhimath road on NH107A	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
17	Between KM Stone 130 and 136 on Ranikhet-Kafra- Chaukhutiya road on Old NH87E (New NH109)	ALMORA	REGULAR	150	SC-CC1	CFS	20	20	400	0	0	Draw of lots	0	3
18	RISHIKESH WML ON NH 34	DEHRADUN	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
19	NARENDRA NAGAR ON NH 34	TEHRI GARHWAL	REGULAR	160	SC-CC1	CFS	20	20	400	0	0	Draw of lots	0	3
20	BETWEEN KM STONE NO 3 TO 8 ON NH 344	HARIDWAR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
21	BETWEEN KM STONE NO 20 TO 25 ON NH 344	HARIDWAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
22	HERBERTPUR CHOWK TO PUNJABI COLONY ON NH 507	DEHRADUN	REGULAR	220	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
23	Between KM Stone 410 and 413 on Karanprayag to Badrinath road Old NH58 (New NH07)	CHAMOLI	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
24	Village Jaikandi on Rishikesh Badrinath Marg on Old NH58, (New NH7)	CHAMOLI	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of lots	0	3
25	Village Gadora, Tehsil Chamoli on Rishikesh Badrinath Marg on Old NH58, (New NH7)	CHAMOLI	REGULAR	150	SC-CC1	CFS	20	20	400	0	0	Draw of lots	0	3
26	GD GOENKA PUBLIC SCHOOL TO PALION ON NH 7 SHIMLA BYE PASS (OLD SH 80)	DEHRADUN	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
27	DHARMAWALA ON NH 72	DEHRADUN	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
			negotin.	100	50	5.5			1225	<u> </u>	<u> </u>	2.000 01.003		<u> </u>
28	Jaspur Byepass on NH 734 (LHS moving from Kashipur to Jaspur)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
29	Between KM Stone 226 to 231 on NH-74 (New NH 09) LHS Moving from Rudrapur to Kichha	UDHAM SINGH NAGAR	REGULAR	150	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
30	IN BETWEEN CHAMPAWAT & LOHAGHAT on NH 09	CHAMPAWAT	REGULAR	150	SC-PH	CFS	20	20	400	0	0	Draw of lots	0	3
31	In between Km Stone 6 and 16 on Ranibagh to Bhimtal Road on SH-10	NAINITAL	REGULAR	100	OBC-CC1	DC	20	20	400	32	75	Draw of lots	15	4
32	In between Km Stone 9 and 11 on SH-14 From Khairna towards Ranikhet Road LHS	ALMORA	REGULAR	150	OPEN-CC2	DC	20	20	400	32	75	Draw of lots	15	5
33	DIT UNIVERSITY TO JHARIPANI WATERFALL GATE ON MUSSOORIE ROAD ON SH 01	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
34	DURGA CHOWK TO JOLLY GRANT AIRPORT T-POINT ON BHANIYAWALA TO RISHIKESH ROAD ON SH 24	DEHRADUN	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
35	VILLAGE SAHIYA ON VIKAS NAGAR-CHAKRATA ROAD ON SH 20	DEHRADUN	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
36	KOTI TO CHAKRATA ON SH 20 ON CHAKRATA ROAD	DEHRADUN	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
37	In between Sushilla Tiwari Hospital and Devalchaur Chauraha, Haldwani City on SH-5	NAINITAL	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
38	DAULATPUR HAZRATPUR URF BUDHAWA SHAHID ON SH 27 ON ROSHANABAD- KUDKAWALA TO BIHARIGARH ROAD ON RHS	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
39	In between Km Stone 8 and 11 on SH-05	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
40	VILLAGE KUDI ON RAISI TO BALAWALI ROAD ON SH-26	HARIDWAR	REGULAR	100	ST	CFS	35	35	1225	0	0	Draw of lots	0	3
41	JWALAPUR TO SUBHASHGARH ON SH-66	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
42	Village Vishal (Pokhari) on Rudraprayag-Gopeshwar Road, Tehsil Pokhari, Not on SH or NH	CHAMOLI	RURAL	50	SC	CFS	20	20	400	0	0	Draw of lots	0	2
43	VILLAGE RUDRAPUR, RAJBALA ROAD, TEHSIL- VIKASNAGAR (NOT ON NH/SH)	DEHRADUN	RURAL	85	ST	CFS	35	35	1225	0	0	Draw of lots	0	2
44	Village Godi Badi Seela-2 on Hanumanti Dugadda Road, Tehsil Kotdwar, Not on SH or NH	PAURI GARHWAL	RURAL	80	SC	CFS	20	20	400	0	0	Draw of lots	0	2
45	SAHASTRADHARA CROSSING TO IT PARK SAHASTRADHARA ON SAHASTRADHARA ROAD	DEHRADUN	REGULAR	220	OPEN	СС	20	20	400	32	12	Bidding	30	5
46	DOIWALA WML NOT ON NH AND SH	DEHRADUN	REGULAR	100	OPEN-PH	СС	20	20	400	32	12	Bidding	30	5
47	On Jaspur Nadehi road WML of Jaspur (On LHS from Jaspur to Nadehi), Not on SH or NH	UDHAM SINGH NAGAR	REGULAR	100	OBC	сс	20	20	400	32	12	Bidding	30	4
48	BARKOT WML	UTTARKASHI	REGULAR	150	OPEN	СС	20	20	400	32	12	Bidding	30	5

49	BETWEEN KM STONE NO 106 TO 110 ON OLD NH-72	DEHRADUN	REGULAR	170	OPEN-CC1	СС	35	35	1225	32	12	Bidding	30	5
50	(DEHRADUN TO PONTA) ON RHS RISHIKESH WML ON NH 7	DEHRADUN	REGULAR	250	OPEN	СС	35	35	1225	32	12	Bidding	30	5
51	IN BETWEEN KM STONE 232 TO 234 ON NH 74 (NEW NH 09)(RHS moving from KICHHA to SITARGANJ)	UDHAM SINGH NAGAR	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
52	IN BETWEEN KM STONE 32 AND 36 ON SH-15	UTTARKASHI	REGULAR	100	OBC	СС	20	20	400	32	12	Bidding	30	4
53	IN BETWEEN KM STONE 48 AND 53 ON SH-15	UTTARKASHI	REGULAR	100	OBC-CC1	СС	20	20	400	32	12	Bidding	30	4
54	LHS ON CHANDRAMANI CHOWK TO SUBHASH NAGAR CHOWK, DEHRADUN WML	DEHRADUN	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
55	IT PARK SAHASTRADHARA TO PACIFIC GOLF ESTATE	DEHRADUN	REGULAR	200	OBC	DC	20	20	400	32	75	Draw of lots	15	4
56	BUDDHA CHOWK KIRSALI TO INTERSECTION OF NAGAL ROAD AND RAIPUR ROAD	DEHRADUN	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
57	MDDA PARK TO MUSSOORIE DIVERSION ON RAJPUR	DEHRADUN	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
58	VIDHAN SABH TO DEFENCE COLONY COMMUNITY HALL ON SHAH NAGAR DEFENCE COLONY ROAD	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of lots	15	4
59	MOTHROWALA CHOWK TO KAMBOJ PALACE ON NEW CANAL ROAD, DEHRADUN WML	DEHRADUN	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
60	ARAGHAR CHOWK TO SURVEY CHOWK ON EC ROAD, DEHRADUN WML	DEHRADUN	REGULAR	210	OBC	DC	20	20	400	32	75	Draw of lots	15	4
61	MAHARANA PRATAP CHOWK TO MALDEVTA	DEHRADUN	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
62	BALLUPUR CHOWK TO SEVEN OAKS SCHOOL, DEHRADUN WML	DEHRADUN	REGULAR	180	OPEN-CC2	DC	20	20	400	32	75	Draw of lots	15	5
63	RISPANA BRIDGE TO ARAGHAR CHOWK ON LHS	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
64	EITHER SIDE ON SIDCUL BYE PASS ROAD IN SIDCUL HARIDWAR (NOT ON NH/SH)	HARIDWAR	REGULAR	210	OPEN	DC	35	35	1225	32	55	Draw of lots	15	5
65	Within 1 KM of St. Marys School (On Opposite side of School), on Gangapur road WML of Rudrapur	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
66	On Jaspur Patrampur road, WML of Jaspur, Not on SH or NH	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
67	Vill. Haldukhata, (Within Municipal Limit), Tehsil Kotdwar on Kotdwar Laldhang road, Not on NH/SH	PAURI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
68	ROORKEE WML (NOT ON NH/SH)	HARIDWAR	REGULAR	180	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
69	HARIDWAR WML (NOT ON NH/SH)	HARIDWAR	REGULAR	200	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
70	RISHIKESH WML NOT ON NH	DEHRADUN	REGULAR	240	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
71	KASHIPUR, WITHIN MUNICIPAL LIMITS, NOT ON SH OR NH	UDHAM SINGH NAGAR	REGULAR	125	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
72	Kiccha City , Within Municipal Limit, Not on SH or NH	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
73	Rudrapur WML, Not on SH or NH	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
74	Village Nimbuchaur, (Within Municipal Limit) on Kotdwar to Motadhang road (LHS), Not on NH or SH	PAURI GARHWAL	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
75	Vill.Lohariyasal Malla, Within Municipal Limit on Kathgariya Chauraha-Kathgodam road, Not on SH or NH	NAINITAL	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
76	Village Bhatwari (Ukhimath), Tehsil Ukhimath on Gopeshwar Chamoli road on NH107A	RUDRAPRAYA	REGULAR	150	OBC-PH	DC	20	20	400	32	95	Draw of lots	15	4
77	Village Tilwara (Rudraprayag) on Rudraprayag to Augustmuni road on NH107	RUDRAPRAYA G	REGULAR	170	OBC	DC	20	20	400	32	95	Draw of lots	15	4
78	On Proposed Rudrapur Ringroad (LHS Between SIIDCUL & UP Border)	UDHAM SINGH NAGAR	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
79	Between KM Stone 229 and 233 LHS on NH109 on Simli to Karanprayag road	CHAMOLI	REGULAR	160	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
80	Village Nalgaon Sirpur on Simali to Baijnath road on New NH109K	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
81	Between KM Stone 27 and 30 on Bageshwar Kapkote road on NH109K	BAGESHWAR	REGULAR	200	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
82	Between KM Stone 38 and 42 on Bageshwar Kapkot Road on NH109K	BAGESHWAR	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
83	In between KM Stone 70 and 73 on NH87 (Old NH), New NH109 LHS on Rampur Kathgodam road	NAINITAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
	Inca Militor Ello oli vallibai vattikonalii 10du							L						

84	In between KM Stone 95 and 99 on Kathgodam to	NAINITAL	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
85	Nainital road on Old NH87 (New NH109)] VILLAGE KUMRARA ON DARASU-BARKOT ROAD ON NH	UTTARKASHI	REGULAR	150	OPEN-CC1	DC	20	20	400	32	95	Draw of lots	15	5
86	IN BETWEEN KM STONE 203 AND 210 ON NH 74(NEW NH 309)(RHS,RUDRAPUR TO KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
87	Between Km Stone 193- 199 on NH 74 (New NH-309) on LHS when moving from Rudrapur to Kashipur	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
88	ON NH 74(NEW NH 309) BETWEEN KM STONE 178 and 184 on LHS (moving from RUDRAPUR TO KASHIPUR)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
89	Between Km Stone 193 and 199 on NH 74 on RHS when moving from Rudrapur to Kashipur	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
90	On Kashipur Bypass Between KVR Hospital & Village Ginni Khera (on LHS from Kashipur to Bazpur)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
91	Between Km Stone 186- 189 on NH 74 (New NH 309) on LHS when moving from kashipur to Rudrapur	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
92	Between KMS 19 and 22 RHS on Ramnagar Kashipur road on Old NH 121 (New NH 309)	NAINITAL	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
93	BETWEEN KM STONE 152 TO 154 ON NH 334	HARIDWAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
94	BETWEEN KM STONE NO 23 TO 25 ON NH 334 ON ROORKEE BYE PASS	HARIDWAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
95	BETWEEN KM STONE 188 TO 191 ON NH 334	HARIDWAR	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
96	BETWEEN KM STONE 155 TO 160 ON NH 334	HARIDWAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
97	BETWEEN KM STONE NO 31 TO 40 ON NH 334 ON RHS	HARIDWAR	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
98	BETWEEN KM STONE 14 TO 16 ON NH 334A ON LHS (PURKAZI TO HARIDWAR)	HARIDWAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
99	BETWEEN KM STONE NUMBER 40 TO 44 ON NH 334A	HARIDWAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
100	WITHIN 3 KMS FROM AGARKHAL ON NH 34 (TOWARDS NARENDRA NAGAR)	TEHRI GARHWAL	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
101	CHINYALISOR ON NH-34	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
102	BETWEEN KM STONE NUMBER 5 TO 10 ON NH 34 ON RHS ON HARIDWAR NAZIBABAD ROAD	HARIDWAR	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
103	BETWEEN KM STONE NO 9 TO 12 ON NH 344	HARIDWAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
104	In between KM Stone 47 and 49 on Kotdwar to Satpuli road on Old NH119 (New NH534) RHS	PAURI GARHWAL	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
105	In between KM Stone 115 and 118 Satpuli to Pauri	PAURI	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
	road on NH119 (Old NH), New NH534 VILLAGE SHIVPURI TO DEVPRAYAG ON NH -7	GARHWAL TEHRI	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
106	BETWEEN KM STONE NO 514 TO 520 ON NH 7 ON RHS	GARHWAL DEHRADUN	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
107	TOWARDS NEPALI FARM Between KM Stone 374 and 376 on Rudraprayag to	RUDRAPRAYA						-						
108	Karanprayag road on NH58 (Old NH), New NH7	G	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
109	BETWEEN KM STONE NO 515 TO 519 ON NH 7 ON LHS TOWARDS NEPALI FARM	DEHRADUN	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
110	BETWEEN KM STONE NO 521 TO 525 ON NH 7 ON RHS TOWARDS NEPALI FARM	DEHRADUN	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
111	BETWEEN KM STONE NO 32 TO 36 ON SHIMLA BY PASS ROAD (OLD SH 80 AND NEW NH 7)	DEHRADUN	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
112		TEHRI GARHWAL	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
113	NEW TEHRI ON NH 707A	TEHRI GARHWAL	REGULAR	150	OBC	DC	20	20	400	32	95	Draw of lots	15	4
114	Between KM stone 20 and 25 On NH- 125 (New NH- 09)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
115	Between Chalthi Bridge and village Amori on NH-09 (Old NH-125) (Tanakpur- Champawat Road)	CHAMPAWAT	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
116	Within 2 KM of Kanalichinna on either side on NH-09	PITHORAGAR H	REGULAR	150	OPEN	DC	20	20	400	32	95	Draw of lots	15	5
117	Within 3 KM of Majhola on NH 731K In Dist Uham Singh Nagar	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4

118	IN BETWEEN KM STONE 243 TO 252 ON NH 74 (NEW NH 09)(LHS, KICHHA TO SITARGANJ ROAD)	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
119	On Khatima Bypass (LHS moving from Khatima to Tanakpur)	UDHAM SINGH NAGAR	REGULAR	150	OPEN-CC1	DC	35	35	1225	32	95	Draw of lots	15	5
120	On NH 125 (New NH-09) Between KM stone 11 to 18	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
121	On NH 125 (New NH-09) Between KM stone 4 to 10	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
122	In between Km Stone 15 and 18 RHS on Kaladhungi to Ramnagar Road on SH-41	NAINITAL	REGULAR	100	OPEN-CC1	DC	35	35	1225	32	75	Draw of lots	15	5
123	In between Km Stone 12 and 15 on SH-05	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
124	In between Km Stone 104 and 107 on SH-41 From Sitarganj to Haldwani RHS	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
125	Within 1 Km Of Village Digauti on SH-60	PITHORAGAR H	REGULAR	100	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
126	In between Km Stone 1 and 8 on SH-105	UDHAM SINGH NAGAR	REGULAR	100	OPEN-CC1	DC	35	35	1225	32	75	Draw of lots	15	5
127	In between KM Stone 58 and 62 on SH-11 From Kausani towards Garud Road RHS	BAGESHWAR	REGULAR	100	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
128	Village Palson, Tehsil Bageshwar on Bageshwar-Dofar- Dharamghar Road on SH-60	BAGESHWAR	REGULAR	110	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
129	In between KM Stone 38 and 41 on Bageshwar-Dofar- Dharamghar Road on SH-60	BAGESHWAR	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
130	Within 2 Kms From Mukhani Thana, Vill. Loharia Sal Talla, Teh. Haldwani, on Kaladhungi Road on SH-41	NAINITAL	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
131	VILLAGE GAUNSARI ON SH31 ON CHAMBA TO DEVPRAYAG ROAD	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
132	In between Km Stone 72 and 78 on Kathgodam Chaurgalia Road on SH-41	NAINITAL	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
133	Village Dhanachuli on Padampuri Pahadpani Road on SH10	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
134	In between KM Stone 40 and 44 on SH41 on Kaladhungi to Haldwani road	NAINITAL	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
135	Village Kafali, Tehsil Dug Nakuri on SH60 VILLAGE SUSADI KHURD ON MANGLORE TO DEOBAND	BAGESHWAR	REGULAR	100	OBC	DC	20	20	400	32	75	Draw of lots	15	4
136	ROAD ON SH29	HARIDWAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
137	IN BETWEEN KM STONE 4 AND 8 ON SH-28	HARIDWAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
138	In between Km Stone 125 and 130 on SH-10 FROM VILLAGE THANO TO MAHARANA PRATAP	CHAMPAWAT	REGULAR	100	OBC-CC1	DC	20	20	400	32	75	Draw of lots	15	4
139	CHOWK ON SH-85	DEHRADUN	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
140	IN BETWEEN KM STONE 03 TO 09 ON BHAGWANPUR TO BAHADRABAD ROAD ON SH 68	HARIDWAR	REGULAR	100	ОВС	DC	35	35	1225	32	75	Draw of lots	15	4
141	Upto 6 Km From Jhankat Chouraha on Jhankat- Biria - Shreepur Bichuva Road on SH-70	UDHAM SINGH NAGAR	REGULAR	100	ОВС	DC	35	35	1225	32	75	Draw of lots	15	4
142	Within 3 Kms From Village Jangal Jogither towards Jarasu Pratappur on SH-70	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
143	In between Km Stone 100 and 103 on SH-41	UDHAM SINGH NAGAR	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
144	IN BETWEEN KM STONE 109 TO 114 ON SH-69	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
145	Village Tharutisor ,Tehsil Sitarganj (Not on SH or NH)	UDHAM SINGH NAGAR	RURAL	50	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
146	Village Manduwa Kheda,on Jaspur-Bhagwantpur Road OML, Not on SH or NH, Tehsil Jaspur	SINGH NAGAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
147	Village Umrikhal Seela-1, on Kotdwar to Lansdowne road, Tehsil Lansdowne, Not on SH or NH	PAURI GARHWAL	RURAL	50	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
148	Village Haldupokhra Nayak, Tehsil Haldwani on Panchyatghar to RTO Office road, Not on SH or NH	NAINITAL	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
		_												

149	Village Naul, Tehsil Nainital on Bhimtal Naukuchiyatal road, Not on SH or NH	NAINITAL	RURAL	60	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
150	VILLAGE BHAGTANPUR ABIDPUR URF IBRAHIMPUR, TEHSIL-HARIDWAR, NOT ON NH OR SH	HARIDWAR	RURAL	65	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
151	VILLAGE BULAKI WALA ON LANGHA ROAD, TEHSIL- VIKASNAGAR (NOT ON NH/SH)	DEHRADUN	RURAL	80	OPEN-CC1	DC	35	35	1225	16	35	Draw of lots	5	4
152	CHUNNI LAL CHOWK TO TEKHLA BRIDGE ON GANGOTRI BYE PASS ROAD, TEHSIL-UTTARKASHI (NOT ON NH/SH)	UTTARKASHI	RURAL	90	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
153	Village Barkheri Tehsil Kashipur, Not on SH or NH	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
154	VILLAGE MEERPUR MUWAZARPUR ON AURANGABAD TO DHANOURI ROAD, TEHSIL-HARIDWAR (NOT ON NH/SH)	HARIDWAR	RURAL	90	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
155	Village Mundiya Kala, Tehsil Bazpur, Not on SH or NH	UDHAM SINGH NAGAR	RURAL	50	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
156	In between Pokhri Band and Village Pokhri on Pokhri Band to Pokhri, Not on NH or SH	CHAMOLI	RURAL	50	SC	CFS	20	20	400	0	0	Draw of lots	0	2
157	Between Kamalwaganja and Lamachaur chowk on Haldwani Kamalwaganja Road, OML, Not on NH or SH	NAINITAL	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
158	Village Manela on Arari road, Tehsil Dwarahat, Not on SH or NH	ALMORA	RURAL	60	OBC	DC	20	20	400	16	35	Draw of lots	5	3

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Applicatio n fee in Rs.	Type of RO	Type of Site	Category	Applicatio n fee in Rs.	
Regular	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500	
ROs	cc	ОВС	5000		cc	ОВС	4000	
	cc	Open	10000		CC	Open	8000	
	DC	OBC	5000		DC	ОВС	4000	
	DC	Open	10000		DC	Open	8000	

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 05 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

State	Territory	Distt Cove	Address	Contact no
UTTARAKH AND	DEHRADUN	ALL DISTTs.	Territory Coordinator (Retail), Bharat Petroleum Corporation Limited, Ground Floor,UCF Sadan, Vishnu Vihar, Deep Nagar Road, Dehradun, Uttarakhand - 248001	01352974365